
Answer Key – Math 
Watermelon – Seeds, Sun & Fun 

Grades 5-6 
 

Solve the crossword puzzle and answer the questions to the right. 
 

 
 
(I. across)  1615 
 
(B. down)  351 
 
(H. down)  92 
 
 
A Royal Problem 
 
E = 3,206 R2   W = 73 
 
R = 947 R8   T = 1,271 R5 
 
N = 1,335 R2   C = 231 R1 
 
O = 801 R5   S = 2,417 
 
__C__     __R__     __O__     __W__     __N__            __S__     __E__        __T__     
231 R1    947 R8    801 R5        73      1,335 R2            2,417    3,206 R2   1,271 R5 
 
 
1. 150 
 
2. 10:15 a.m. 
 
3. 4 
 
4. 33 


